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Graph the following equation. Then, wnte the characteristics for the graph.

Loy =2(x+1)" -5 2y=—xt+dx N “\9 ;"3:'%
s vna . [a1#5 ) CETATTED evenex 2,M)  CTITEE LR )(L‘ﬁ/
caxsorsyms Xict R e aworsme N2 2 l/’*\i 1[0
- T !‘( W W) L2 » Zaross: (0,0) (40) ¢ 'y 1 s >
gange:_ =) o) ;"M A o Yint: __(D)0) HHHH- 4 : B»ﬂ‘*
S increase: (=Y IR o tnerease: \=02) T 7 (2
2 n;’ + Describe the transformations: e Roofs:_[~1,0) (-3,0)
Qﬂff Le oV ¢ Avg. Rote of Change
vo 2 \ogr 2 Bexg-2i__ D 7-0
. , _Swekth 5 + End Behavior: f %‘.':)23,);5
« Write the equation: AS X—o, y—> 0>
=l gy v As X—>—0, y—>_ =5 _

3. Sketch the quadratic function using the given information: TTTLT T
Domain: & (- to)us) Ve L2 0 o ’5,
chg@; y :’: 4 L-«r ob ]Ll—) i tw N?M .- ,M?,‘E + l 3
Increasing: —wo<x<2 (~® 23 R

: ERVERE
Decreasing:2<x<x [ 2, o) NN RN
FRAXN

Descnbe the transformations fo the parent function in the given equations.
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Write the quadratic equation of the graph that has been....
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Change the equation to standard form. Solve for 1.
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14. Compare the vertex, y-intercept, and rate of change from x: =1 toxz = 2 for
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